dny

[UONLI MMM //:

o aul

http://www.rtuonline.com

No. of Printed Pages : 2

786

EL308 ROIING. : vevvrerenerrrnrenrenn

May - 2013
TELE-COMMUNICATION & SWITCHING NETWORKS

frtfea v . A [sfesas 31 : 70

Time allowed : Three Hours) [Maximum Marks : 70

qe . (i) HEFEeT AfEr & vin ° 4 fEet gie & 36 3
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) e 9 & GUl 9T & HHER UF Gre g7 FAT |
Solve all parts of a question consecutively together.
(iii) T F97 F1 79 2§ IR FifT0 |
Start each question on a fresh page.
(iv) &1 st J st g17 @1 [t 7 st s & arg &
Only English version is valid in case of difference in both the languages.

L. (i) ieg @ i Feaehgat ¥ w0 aed &0
What is meant by called and calling subscriber ?
(i) ToE e S SRS |
Differentiate between Electromechanical and Electronic Exchanges.
(iii) Teafam § FZiet e =+ §d & 2
What are the control functions in switching ?
(iv) Teaf=r sman |/ 9 1 993 & 7
What do you understand by switching capacity ?
(v) 0 fefaem feafam 9 2rgn fefamm feafem o srmar st

Differentiate between space division switching and time division switching. 2 x §

[
—
o

v fafa fawen & geng (amumegm) fagrat = g o waemsd |
Briefly explain the basic principles of a switching system.
(i) U EEfaa AR TR § g ' Al ol e 9 aaemd |

Explain various tones used in automatic telephone exchange. - 6x2
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(2)

“H=PHd SPC & a1 ¥ Fied o weened |

Briefly explain about the centralised SPC.

us fafan foey 9 uelihye diwdd? & i o quaed |

Explain about application software in a switching system 6 x2
u% 3faa fom & werar ¥ v fgwadia Seas faast ueds e v ag fatan Jfgaw
= HHAY |

Explain a two stage network with multiple switching matrices in each stage with
the help of suitable diagram.

U e qe-Frafa egn-fefasm o faw &t wawone 1 afas T |
Explain the working of output controlied time division space switch with the
help of suitable diagram. 6x2

s et sT feaw =i Frvet =i sfaa fag =t weEa 9wy |

Explain the working of a two stage ST switch with the help of suitable diagram.
What do you understand by network traffic load ? Explam 6x2
15 T % UF U0 H W O 2 9 % 001 I W 30 e = A o wean € 1 gy
7 o T 2fes =t oA Fifag |

In a group of 15 servers, each is occupied for 30 minuwes in an observation
interval of two hours. Calculate the traffic carried by the group.

dfiad § WAN =l auia i |
Briefly describe WAN. 6x2

u% 3fee fag i wermar 9 uF TST Fag =t FrEvomet # awam |

With the help of suitable diagram explain the working of a TST switch.

ZRW Aot T faa i s # 9w |

Explain the working of a time multiplexed space switch. 6x2

7 2 ) el =t we femforat fafes

Write short notes on any two :

(i)

(11)

SRt et
PSTN

IEAC R |

Markov Process

(iii) T.371.08. qur saEg migewd

Yy

GOS and blocking probability 6x2
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